QUIZ #4: GROUP QUIZ
CSE 326
Data Structures
Autumn, 2003

10/29/2003

1. True/false:  Primary clustering is a problem in separate chaining.







2. Which location is checked on the ith probe when using quadratic probing?







3. Name two operations that search trees can efficiently perform, but hash tables cannot.  
(hint: recall Homework 2)





Can you generalize this to name the class of operations that are hard for hash tables?


4. What condition should the second hash function h2 in double hashing satisfy in order to avoid primary clustering?  Is this easy to do in practice?

5. What condition should the second hash function h2 in double hashing satisfy in order to avoid secondary clustering?  Is this easy to do in practice?
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